VICOR CONFIDEN

TIAL

THIS DOCUMENT AND THE DATA DISCLOSED
HEREIN OR HEREWITH IS NOT TO BE REPRODUCED,

USED, OR DISCLOSED IN WHOLE OR IN P)
TO ANYONE WITHOUT PERMISSION OF VICt

ART
OR_CORP,

CONFIGURATION 'D’

COLDPLATE VERSION SHOWN
SINGLE OUTPUT
WITH PLUGMATES

INCHES

MM

63 Lo o d

16 g) @

2.680
68.07 VIPAG

6.80 o
172.7

1898 6.000
152.40

|
12
| sl | | 72
35.92 18.3
J 72 L 199
183 50.5

CUSTOMER MUST WIRE OUTPUTS OF
CONVERTERS IN PARALLEL AS SHOWN.
REFER TO DATA SHEET FOR DETAILS.

TOLERANCES XX _02 XXX _ 010

MOUNT (7) PL USING
#8 FLAT HEAD SCREW

(M4 FLAT HEAD SCREW)

TORQUE TO 12 IN. lbs.

[ o [

‘ ‘ SEE SHEET 1

CONFIGURATION 'D’

COLDPLATE VERSION SHOWN
DUAL OUTPUT
WITH PLUGMATES

INCHES

MM

63 Lo o d

6 g) @

2.680
68.07 VIPAC

MOUNT (7) PL USING

#8 FLAT HEAD SCREW
° (M4 FLAT HEAD SCREW)
6.80 TORQUE TO 12 IN. lbs.

1727

6.000

152.40

TOLERANCES: XX _.02 XXX _ .010

N_ESS DTFERWISE SPECFED

Aﬂ# VICOR

o
DINENSIONS ARE 1N INCHES-

J;g;ﬁ:sgﬁsgggs,\ﬁ e OUTLINE DRAWING
Hoeifls *

VIPAC CONFIG "D" (DC)

THRD ANGLE PROJECTION _|SIZE

FSCM NO. _ [DWG N

o
21320

eV
[%e

— 67131
[

DO NOT SCALE DRAWNG _ |SCALE 11

[seer 7 oF 2




VICOR CONFIDENTIAL REV, DESCRIPTION DATE APVD
HEREIN OR HEREMITH 15 NOT To BE AEFROBUCED, #1 | DRAWN FOR DEVELOPHENT AK| 02/05/01 | TR
75 ANTONE NITHOUT PERMSSION OF ViCOR CORP =2 | REVSD PER HRKUP ax| o7ron | ek
#3 | REVSD PER MRKUP AK| 12/05/01 GCK.
/ y / y u4 | ADDED SHEETS 2 AND 3 AK| m/09/02 CFH
CONFIGURATION 'D CONFIGURATION 'D = [scoea wre oreurs ] s |
#6 | REVSD PER MRKUP AK| 05/05/05 GCK
COLDPLATE VERSION SHOWN COLDPLATE VERSION SHOWN
SINGLE OUTPUT DUAL OUTPUT
WITH LUGMATES WITH LUGMATES
INCHES INCHES
MM MM
75 (I [1 s (I [1
191 @) 1941 LEE
315 3.15
80 80
26 2.828 16 2.828
LA 7183 LA 7183
63 t@ o GJ 63 te o QJ
16 16
O © 9 ©
o © o o o 0 o ©
2.680 2.680
5507 VIPAG MOUNT (5) PL USING =o VIPAG
- 18 FLAT HEAD SCREW ; MOUNT & PL USING
(M4 FLAT HEAD SCREW) 48 FLAT HEAD SCREW
6.80 o TORQUE TO 12 IN. lbs. 6.80 o o (M4 FLAT HEAD SCREW)
57 O o090 O TORQUE TO 12 IN. Ibs.
1727 1727
00000 O ©0 0000 @
00000
7.28 6.000 #4-40 STUD 7.3 6.000 o000 o 00 o #4-40 STUD
1840 152.40 FITS 1 LUGS MIN 812 15240 FITS 2 LUGS MIN
(VICOR P/N 23519) : ’ (VICOR P/N 23519)
. TORQUE TO 4 IN. lbs. o i TORQUE TO 4 IN. lbs.
o 4 PLACES 9 o 4 PLACES
@ & &
= & 33
o o o o o o o ac
14 oo oo i
A 36 A A2 3 |
B, © A
\NSULATE[/ 1414 _|45] T
BUS BAR ™ 97 T HOLES MARKED "A
2 PL) HOLES MARKED 'A 70 ARE NOT USED FOR
ARE NOT USED FOR — 7 MOUNTING (2PL)
MOUNTING (2PL) 70 200
s 508
XX _.02 XXX _.010 XX _02 XXX _.010
TOLERANCES XX 02 XXX _ 010 TOLERANCES XX 02 XXX _.010
M~S MM T 25 MM 5 MM T 25

[« | _%p—v ICOR

o
DINENSIONS ARE 1N INCHES-

FRACTIONS DECHALS ANGLES OUTLINE DRAWING
e Rt T VIPAC CONFIG "D" (DC)

THRD ANGLE PROJECTIN _[SIZE |FSCH NO. _ [DWG

= 57131 21320 %6

D NOT SCALE brAWNG_|SCALE 1] [sreer 1_oF 2




